


q = 128 Engels


První sloka (22 taktů)



el. kytara

Struktura: Sloka, Refrén, Sloka, Refrén, Sloka, Refrén, Dohra

2 
Refrén

E VII.,E VIII.    H VIII.    
H X.  
          

G IX.  
H X. 

10 
      

E X.,E XII.





H VIII.
  

H X.    E III.   
E X.

        

18 
Druhá a třetí sloka 

   
flag.

H VII.


G VII.

 
D VII.


H XII.

   
H VII.


G VII.

  
E XII.


H XII.

 
H VII.



G VII.



29 
 

G V.



H VII.




G V.



H VII.


G VII.



D VII.


E XII.




G V.



H VII.


G VII.


E XII.




40 
Dohra 
  

E XII.
 


 

E X.  E XIII.        
E XIII. 

E XII. 
E V.  E III.     

48

   
E VII.  E III.   

E X.

          
     


